
Caractéristiques de l'épreuve

Montrouge TH3

Joueurs : 111 M = 222 D = 2

Joueurs par Série : Total :

Serie 1 : A : 3 B : 8 11

Serie 2 : A : 8 B : 7 15

Serie 3 : A : 7 B : 4 11

Serie 4 : A : 17 B : 12 C : 5 D : 5 39

Serie 5 : A : 10 B : 7 C : 5 D : 4 26

Serie 6 : A : 7 B : 2 C : 0 D : 0 9

Serie 7 : 0 0

Audincourt TH3

Joueurs : 68 M = 0 D = 0

Joueurs par Série : Total :

Serie 1 : A : 0 B : 1 1

Serie 2 : A : 6 B : 0 6

Serie 3 : A : 4 B : 7 11

Serie 4 : A : 10 B : 6 C : 5 D : 5 26

Serie 5 : A : 8 B : 4 C : 3 D : 5 20

Serie 6 : A : 3 B : 0 C : 0 D : 1 4

Serie 7 : 0 0

2X Montrouge Audincourt

Joueurs : 179 M = 358 D = 2

Joueurs par Série : Total :

Serie 1 : A : 3 B : 9 12

Serie 2 : A : 14 B : 7 21

Serie 3 : A : 11 B : 11 22

Serie 4 : A : 27 B : 18 C : 10 D : 10 65

Serie 5 : A : 18 B : 11 C : 8 D : 9 46

Serie 6 : A : 10 B : 2 C : 0 D : 1 13

Serie 7 : 0 0

Page 1


